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Question ID:- 1

Rearrange the parts in correct order to make a méaningful sentence.

tragedy on himself

b) Hamlet brings

d

B

(1) (a) (d) (b) ()
(2) (9 (a) (b) (d)
(3) (b) (a) (d) (¢)
(4) (d) (@) () (b)

Options:-

()
(
(c) at the right time
(

by not taking the right decisien



https://example.com
https://t.me/Teachingexam

=1, Option ID :- 1,
= 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

Change the fnllcawing sentence from Active Voice to Passive V0ice.
A volley of stones hit the police force.

(1) The police force is sure to be hit by a volley of stones.
(2) Itwas a volley of stones that hit the police foxce.

(3) The police force has been hit by a volley of stones.
(4) The police force was hit by a volléy of stones.

Options:-

«1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

=« 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3




Fill in the blank with the correct preposition.

The baby was clinging her mother due to fear and anxiety.
(1) in

(2) from

(3) to

(4) with

Options:-

=1, Option ID :- 9,
= 2, Option ID :- 10,
= 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4




Identify the correct tense form of the underlined part in the given sentence.

I had finished writing the letter when he arrived.

(1) Past Perfect Continuous
(2) Simple Past

(3) Present Perfect

(4) Past Perfect

Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
= 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5




Change the following sentence from Direct Speech to Indirect Speech.

The wayfarer said to the policeman, “Which is the way to the railway station ?’

(1) The wayfarer asked the policeman which was the way to the railway station.
(2) The wayfarer asked the policeman which the way to the railway station was.

(3) The wayfarer asked the policeman the way to the railway_ station.

(4) The wayfarer asked the policeman that which was the way to the railway station.
Options:-

=1, Option ID :- 17,

»« 2, Option ID :- 18,

= 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17

Question ID:- 6

Identify the part which contdins an‘error.
Beside being fined, / the errifig student / was also expelled / from the school.

(1) (2) (3) (4)

Options:-
=1, Option ID :- 21,



= 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7

Choose the word nearest in meaning to the given word.
DERISIVE

(1) critical

(2) emotional

(3) angry

(4) mocking

Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8




Choose the word opposite in meaning to the given word.
TRANQUIL

(1) rough
(2) violent
(3) agitated
(4) peaceful

Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9




Identify the Part of Speech of the underlined word.

Jogging is a not good exercise, especially for the senior citizens.

(1) Verb

(2) Adverb

(3) Noun

(4) Conjunction

Options:-

=1, Option ID :- 33,
« 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10




Identify the clause in the underlined portion of the given sentence.
He who exercises daily leads a healthy life.

(1) Noun Clause

) Adjective Clause
) Principal Clause
) Adverb Clause

T I B0

(
(
(4
Options:-

=1, Option ID :- 37,
« 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_KRTGTMATH

Question ID:- 11




e feu 7T =N ST sagEes ufen 2T IHeR MUR W fIU T uve R ST i
HHEN-T3A =l Sa=19 =Aeed § fa9m yfqe et €1 o Afsaied ot s o Sied 3860 2 |

TUTER 93 279 GUEehF a1 guamg e fauai v fad mu 373 ol o g1 Uigehi o fdad ol fasn ed €, 39

TS T4 €, AN & 9§ ITelEcd 1 &Y Fd © | 39 YRR 39 S99 H 9fT TEari 99 € |

TUER-9F T WS 1 3 U faun foewt &2

(1) &= [Han
(2) TA-HHER
(3) HURHM
(4) Temg=
Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12




e feu 7T =N ST sagEes ufen 2T IHeR MUR W fIU T uve R ST i

HHEN-T3A =l Sa=19 =Aeed § fa9m yfqe et €1 o Afsaied ot s o Sied 3860 2 |
HHTER 931 3794 TUIGeh 4 991 TeEr e faudi w forg 1w o= ol & g1 uieehi o feae &1 faen 2a €, =9
SR o1 §, AR & Y SAeiEcd & &Y U © | 39 YR 59 SAad H afFT Geari o4 |
HUEHd SR FEEHEE faud T g SHER-19 % oE YeH-aNaHd €
(1) mfefo=
(2) TAf=
(3) difg®
(4) SITER
Options:-
=1, Option ID :- 45,
= 2, Option ID :- 46,

= 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13




Hret fau TIu RN @t g ufeu 3T IHeh U W fau e uee i S it
HHEN-T31 @1 Saang e | faew sjfqer el ¢ | o s1fvsafed ol wEdadn & Siiad 38 B

THTER 93 3197 TUEeHF 991 9uamtaes faudl w faw e o7 gl o g0 Uiei & f=aq &l faened €, 39

WIS oG €, AR o B9 H STEge & 98 d & | 39 YR 39 Fq9 H 9iHd Seur 9491 © |

i =Eee | frafafag § 9 fegst favm gfmwm 272

(1) feAn

(2) <eifersH

(3) YHER-UH

(4) FIX
Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14




e feu 7T =N ST sagEes ufen 2T IHeR MUR W fIU T uve R ST i
HHEN-T3A =l Sa=19 =Aeed § fa9m yfqe et €1 o Afsaied ot s o Sied 3860 2 |

TUTER 93 279 GUEehF a1 guamg e fauai v fad mu 373 ol o g1 Uigehi o fdad ol fasn ed €, 39

TS T4 €, AN & 9§ ITelEcd 1 &Y Fd © | 39 YRR 39 S99 H 9fT TEari 99 € |

HHER-T3 9I3eh] &l AN & B9 H STLEIdcd & a9 i Sas. 5. 9491 991 & 2
(1) Hadgr

(2) SHFER YT

(3) TS

(4) Hfpa HEuri
Options:-

=1, Option ID :- 53,
« 2, Option ID :- 54,
= 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15




e feu 7T =N ST sagEes ufeu 2T IHeR MUR W fIU T uve R ST i

HHER-TA] i SHa=a e | favm ofaew S ¢ 1 9 Afqsafa & S & Siidd 388 ¢ |
HHTER U5 A9 HURehE 991 GRHH e fawdl W ford T 2371 or@l & 51 Uidehi o f=a i feen &d g, 39
STEe SA1d 8, AT & &9 H Saealide o s HId & | 36 YR 39 07 § afera Geurit 9+ 2 |
frfafaa 5 FF-91 I o757 § 7
(1) Siied - Hsile
(2) HHEE - FEHHETR
(3) SOEIEE — TG
(4) Tfra - iR

Options:-

=1, Option ID :- 57,
»« 2, Option ID :- 58,
= 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16




(1) 49/ - s8R
(2) &R - 3
(3) M — IS
(4) U - HH

Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17




(1) e
(2) SATE
(3) ear
(4) AT
Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18




frefafed | ' 2t feam’ qee =1 |8 #39

(1) TEgm

(2) HFETE

(3) Hi% T ZHR HLAl

(4) Herd HEI
Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19




frefafag § sa-diy amen o= T8 ©

(1) fevrs
(2) @Y
(3) Y
(4) <A
Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20




(1) WeHSH

(2) Hi#

(3) uaft

(4) W
Options:-

=1, Option ID :- 77,
= 2, Option ID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_KRTGTMATH

Question ID:- 21




Who among the following authors was been selected for the Sahitya Akademi Award, 2022 in
Bodo language ?

(1) Rashmi Choudhury

(2) Sunil Phukan Basumatary
(3) Nandeswar Daimary
(4)

4) Adaram Basumatary

Frfafad § | e oi@® i drel 9§ gifecd STRRHL IR, 2022  ferg g T ?
(1) Tem el

(2) Gt FeFA SHART

(3) TSR IR

(4) SR SHART
Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,
= 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84




Question ID:- 22

Which of the following cities in the world is also known as the ‘Peace Capital” ?
(1) Athens

(2) St Petersburg
(3) Geneva
(4) Jerusalem

Frafafad o | e wet =1 fova =1 ‘d Sfted’ o e s 8 2

(1) TusH

(2) He diede

(3) W

(4) FHIEH
Options:-

=1, Option ID :- 85,
« 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86




Question ID:- 23

The provision related to which of the following Commissions was inserted into the Indian

Constitution through the Constitution (Ninety-ninth) Amendment Act, 2014, which was later
struck down by the Supreme Court ?

(1) Planning Commission

)  National Commission for Minorities

R N

) National Judicial Appointment Commission

(
(
(4) Commission of Inquiry

Hfagm (F=maet) dene @afafazm, 2014 & 990 9 vrd & Sfaum § foem smam &1 efafes fiman
o TS 9I1E H I=IaH ~ATerd g1 165 o e ane ?

(1) Al STER

(2) UM HATHESTHR AN
(3) A =t frfer e
(4)  SirE SE

Options:-

=1, Option ID :- 89,

« 2, Option ID :- 90,




= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

Consider the following statements :

(a) A Government of India initiative - India International*Gkill Centre (IISC) Network - is a
fee-based market driven model.

(b) IISC Network caters to the needs of Indian Comparnies demanding foreign manpower and
expertise.

Choose the correct answer from the codes below.:

(1) (a) is correct but (b) is wrong

(2) (a) i1s wrong but (b) is correct

(3) Both (a) and (b) are correct

(4)

4) Neither (a) nor (b) are correet




Frefafas wyAl 9 faar #ifea .

(a) YR T¥HR %l T T8e1 — Siedl sei1eMa [hal Het ([ISC) Heae — U Yeeh AN s9R 9fid
Hiee 2|

(b) IISC “eadh feelt s ofr ferdiosan w1 | e arell WReTg safal @) Seal sl qu T 2

ﬁﬁﬁ%ﬁﬁ@wwwﬁﬁﬂ

(1) (o) W& o7 (b

(2 (a)w%*m(b ﬂ'@%‘

(3) (a) 3R (b) THI TE &

(4) () 3R (b SHI H 9§ IS off wel 7 7

Options:-

=1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25




Consider the following statements regarding states in India
(a) Nagaland was created as a separate state in 1963

(b) Manipur and Mizoram were granted statehood in 1987
(¢) Tripura and Meghalaya were granted statehood in 1972
Choose the correct answer from the codes below :

(1) only (a)

(2) only (a) and (b)

(3) only (a) and (c)

(4) only (c)




a3 o fawg | frefafed e w foeam #ife
(a) &9 1963 H RS I Uk Y2k T d1A1 T

(b) AR R SRy = 1987 H TF =1 &A1 &A1 700
(c) g iR Hemera i 1972 H U &1 TS 61 740

19 et T8 e | He I H1 I Fif ;
(1) o (a)

(2) A (a) SR (b)

(3) I (a) 3R (c)

(4) e (c)
Options:-

=1, Option ID :- 97,
»« 2, Option ID :- 98,
= 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26




What are jet streams ?

(1) One of the techniques of land formation within the shelter belt method of soil conservation
) An apparant force caused by the earths rotation

) Tidal force experienced by mangrove vegetation

) Narrow belt of high altitude westerly winds

Sk B L

(
(
(4

S R 1§ 7

(1) &1 HI&U &l Y&l oee faftl (shelter belt method) & i Y-TEA1 I Tk dehlh
2) Yl o URYHU H 3UH TAH o

(2)
(3) =g Tedfd gRI YT SR 9
(4) TeEfas S arel qiveH sansiilhl gwdue

Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
=« 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103




Question ID:- 27

Consider the following statements regarding Nayan Moni Saikia :

(a) She is an Arjuna Awardee, 2022

(b) She is a Gold Medal (Team) winner in Commonwealth Games 2022
(c) She is a Silver Medal (Team) winner in Asian Championship, 2018
Identify the correct answer from the codes given below :

(1)  (a) only




T79 1At S & Hay | fefatag sy T faEr i
(a) &% 94 2022 T 7 LR fasin &

(b) FE UgHEA Wl 2022 H @vivgs (2m) fosm g

(c) 4% ufyrend <fwmfam, 2018 # toavye® (2M) fasiar €
19 feu T Fe ¥ HEl 3T H Ue=TH HiW, ;

(1) 5 (a)

(2) I (a) 3T (b)

(3) A (b) HK (<)

(4 99 (a) ¥R ()
Options:-

=1, Option ID :- 105,
« 2, Option ID :- 106,

= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28




Which of the following is not a factor responsible for storage losses in agricultural produce ?
(1) Mites

(2) Bacteria
(3) Fumigation using chemical
(4) Inappropriate moisture and temperature in the place of storage

Ff S # verw wfq % fau f=fafas § 9 #9971 s SweEt 7= €2

() FzH

(2) S

(3) THMEA ol FART Hish EHTHI

(4) YSRU &I S ¥, U THI X d9HH

Options:-

«1, Option ID :- 109,
= 2, Option ID :- 110,
=« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109




Question ID:- 29

Which of the following examples most appropriately represents the “Versatility” characteristic of
the computer ?

(1)
(2)
(3)

(4)

Calculation and generation of salary slips of thousands of employees of an organisation
Result of division of any two numbers up to 10 decimal places

Performing long and complex calculations with the same $peed and accuracy from the start
till the end

At one moment one can use the computer to prepare'd letter document and in the next
moment one may play music or print a document

ﬁmﬁf@aﬁﬁaﬁﬂmwwaﬂ‘a_@fﬁw" (Versatility) HeaH e =1 Haifaes @&l o §
<Ifer &2

(1)
(2)
(3)
(4)

TRl e & eoIRT HH=IE & 6T 1 VAT AT S a9 S T

ol S HeEemsll o IATRe & iU ST 10 SHEd TIHT 9 ST

RY ¥ 37d 9 IR Sifeg AT o1 9qW i @R ufRgsd 9 &

ek &0 § P o1 WA Uh T3 91 H i1 3R g8l &9 SHW Hiftd o= 91 & sfghe fiz
FLAT|

Options:-
=1, Option ID :- 113,




= 2, Option ID :- 114,
« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

Which among the following is not correctly matched regarding Tndian Navy’s exercises with Foreign

Navies ?
List - I List - 11
(Name of the exercise) (Countries. involved)
(1) Bongosagar India arid*Bangladesh
(2) SLINEX 22 Indid and’ Sri Lanka
(3) Exercise Varuna 2022 India and Australia
(4) JIMEX 22 India and Japan




A A1 o1 facslt ARl o 919 31 & He9 § Hefafad § 9 @6 gafod 78 8 2
qeit-1 Teit-11

( 3TIATH <HT ATH ) (omfHe 99T )
(1) SFTErR A 3R ey
(2) SLINEX (f&t ) 22 YR 3R Ficiehl
(3) TUSFHTHES 9% 2022 R $IR Ao
(4) JIMEX (STgHe) - 22 R 3R 9
Options:-

=1, Option ID :- 117,
=« 2, Option ID :- 118,
=« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_KRTGTMATH

Question ID:- 31




The given question is based on the following information :
A # B means ‘A is father of B’;

A & B means ‘A is mother of B;

A @ B means ‘A is son of B’;

A @ B means ‘A is wife of B’,

Which of the following means ‘H is the grandson of R" ?
(1) P&R&Q#H

(2) H&R@G@P

(3) H&J@P#R

(4) G&H@J@R




oo mar wee fr=fafeg St w enanfE ®

A#BF 3 &' A, fam B =1,

A & B 319 &' A, HIdT € B I

A@B®# A4 T'A, FEBH,

AcB® 319 g'A, Uet 8 BRI

fefafed 9 =6 o fasrey so ey F1 goiar e foF ‘H, RFT &’ 2
(1) P&R@Q#H

2) H&R@G@P

3) H&J@P#R

4 G&H@J@R

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32




Three statements showing relationships have been given, which are followed by two conclusions

(I) and (I). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.
Statements :

[1] Q<K

[2] K>]

8] $=Q

Conclusions :

(I) S<K

m 7>Q

(1) Only conclusion (I) is true

(2) Only conclusion (II) is true

(3) Both conclusions (I) and (1) aretrue
(4) Neither conclusion (I) nor (II)'1s true




= Haie gt are a9 e fou e # famer s < e (1) iR (1) feu o € 1 = w5y T e e wmem
el §, 98 a9 Sifere faw e ava frewd Hiea sua w6 28 2

hdH :

[1] Q<K

[2] K>]

B] S>Q

e

) S<K

(I J>Q

(1) Hae e (1) =& 8

(2) hae Tremd (ID) W& ®

(3) fremd (1) @R (1) ST @
(4) < frerel § 9w off T8 T8hE
Options:-

=1, Option ID :- 125,
« 2, Option ID :- 126,
=« 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128




Question ID:- 33

Seven friends M, N, |, K, P, Q and R, are sitting in a circle facing at the centre but not necessarily in
the same order. ‘Q)’ is to the immediate right of ‘M. ‘R’ is not between ‘" and ‘Q’. ‘P’ is neighbour
of ‘M" and “K’.

Which of the following persons are sitting adjacent to each other from left to right in the order as
shown ?

(1) PKR
(2) NRJ
3 JKR
(9 QN]

Ira fast M, N, J, K, P, Q 311 R U 91 i 3Meh{d H SUF g 1 IR He &k o3 ¢ &g 30 %9 1 781 3
F1'Q,'M’ & UseH T @R B ‘R AR'Q T " H 6 =1 ® 1P, M SR K o YSIEt ¥ |
frafafeq safeEl § 9 #9 9 i 9 fou T we 8§ 9rf 9 erdl o) v gt % o 92 €2

(1) PKR

() NRJ
(3 JKR
4 QNJ

Options:-




=1, Option ID :- 129,
« 2, Option ID :- 130,
« 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 4, Option ID

1 =132

Question ID:- 34




Three statements are given followed by three conclusions (I), (II) and (III). You have to consider
these statements to be true, even if they seem to be at variance from commonly known facts. You
are to decide which of the given conclusions logically follow(s) from the given statements.

Statements :

[1]  All fruits are vegetables

[2] No apple is vegetable

[3] Some apples are bananas

Conclusions :

(I)  Some bananas are fruits

(II) No apple is fruit

(III) No fruit is banana

(1) Only conclusion (III) follows

(2) Only either conclusion (I) or (II)#olews
(3) Only either conclusion (I) or (TITjxand (II) follow
(4)

4 None follows




= 7 e fau  # foen e i feeed (D), (), &i (1) feu e € ) enraeRt 9 el B WE 9 E A9
9 HmFE: T a2 9 a0 A 8 e ot wifse fe 9 g8 e feu o et 9 arfds wu 9
Freperar ®/2 2

hdH :

[1] =t v gissai €|
[2] IS 9 Gest TE B
[3] ¥ 99 FHA €|
fen

el a1 a1 Treme (1) eteren (1) Fgeemar &
3) whad =1 @ freed (1) oreEy(1n) e §, o) fremd (1) ferera 2
4) g frepy e freperar 21

Options:-
=1, Option ID :- 133,




= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID

: =135

Question ID:- 35







Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Females, Mothers, Lawyers







feu o fospredi § 9 TH 99 3@ 1 =999 Fifew s feu mu =if & =9 92 geY &) S 2




= 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_KRTGTMATH

Question ID:- 36

Eila Gulati is planning to connect 25 computers of het ffaining center using Ethernet Cable. Which
one of the following devices should she use for the same ?

(1) Switch

(2) UPS
(3) HDMI Splitter
(4) Repeater




TAT TEATS! 3UTTE el ol WA Fileh ST A& g o 25 HEH ol 1o A =i ISl o1 T/l 8 7
34 U fou fog feaey =1 wam = =feu 2

(1) T&= (Switch)

(2) FEE (UPS)

(3) TwHEStHHRE Pt (HDMI Splitter)
(4) T (Repeater)

Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
=« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37




Which of the following ports is the most primitive for connecting a Video output device on a PC/
a laptop ?

(1) HDMI
(2) PS2
(3) VGA
(4) USB

ot dielt/ctueia IR Ua difedl wAiseye feary #1 Fe & & fou &= w1 Ui waifus g @ 2
(1) UHEITHsE (HDMI)
(2) T2 (PS2)
(3) SIS (VGA)
(4) FTHST (USB)
Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147




Question ID:- 38

Which of the following is not an input device ?
(1) Touchpad

(2) Speaker
(3) Scanner
(4) Light Pen

frfafad § 3 =0 uw g feasy & &2

(1) Z=ue
(2) EHTHL
(3) Th
(4) @A
Options:-

=1, Option ID :- 149,
=« 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151




Question ID:- 39

is a file extension of an image file.

(1) mp3
(2) mov
(3) tff
(4) mpeg
TorHl 30 Wige =1 0% wEd fawR g
(1) mp3
(2) mov
(3) tff
(4) mpeg
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
=« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156




Question ID:- 40

Which of the following is the correct full form of TCP ?
(1) Transmission Control Protocol

(2) Transportation Control Protocol

(3) Transmission Central Protocol

(4) Transport Control Protocol

Frafafag § 3 ddrdt (TCP) 1 W2l U M iF 91 &2
(1) ZTEHIE HZe TR

(2) ZIHUIEYH Hra Jierhe

(3) TrEfHyH =2 Hereh

(4) ITHUIE shelel Ieiehld
Options:-

«1, Option ID :- 157,
= 2, Option ID :- 158,
« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157




Subject : UL_Q41-Q50_KRTGTMATH
Question ID:- 41

A child is born in a morally honest and socially committed family. Over the time, the child imbibe
these values through :

(1) Experiantial learning

(2) Reflection
(3) Insight learning
(4) Vicarious learning

Ueh dcish Uk Hideh ®9 § $AMER S HHTSER $9 G HiTeg e § 56 ofdl ¥ 1 999 5 & JY-91y
aTeTeh TR HIeAH | &9 el hl SATHEE ) 0 ?

(1) STYarcHE 3TfErTH
(2) gfdaad

(3) A~eie fEH

(4) wfaffergees e
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,




= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

A student of which one of the following type of school will prefer hémeschooling ?
(I) A school that acknowledges diversity

(2) A school that considers disability

(3) A school that adheres to sodial exclusion

(

4) A school that follows social inclusion

Fr=fafed 5 9 fore TR & Sha o 9endl 3 92 ged (219 WhiciT) ol JefHehd < ?
(1) UF pa St fafaerd # Eier Fia @

(2) U THA S e W R w3

(3) UF THA S HHISIH AR Bl Ter Hdl &

(4) U Thel o WIS SFAAYA T SFTEOT Al

2

Options:-
«1, Option ID :- 165,




= 2, Option ID :- 166,
=« 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43

Which one of the following character pertaining to the cogiitive development of adolescents is
correct ?

(1) Adolescents learn by social interaction.

(2) Adolescents can use deductive logic.
(3) Adolescents are capable of theoretical reagoning,.
(4) Adolescents can think upto concrete leyél,

TereTl o Wameass faere & geud efafeg § 9 &0 @ agw 98 872

(1) foreir g o fral % gRrdes €1
(2) TR FrmaeTenes @ 1 ST R T ©
(3) TR Sgif-es faa=m o gem 8 ¥
(4) ToFeiR Od @ o e & 9o 2 |

Options:-




=1, Option ID :- 169,
« 2, Option ID :- 170,
= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

Amar is a 15 year old school going student. Which one of the following now can be answered or
responded by Amar which he could not answer or might face difficulty in answering/responding
five years ago ? |

(1) “Describe the most crowded place of your eity in your own words’

(2) ‘Describe the cleanliness and beauty of yeusr city”

(3) ‘Describe the most crowded place©f your city as if you are flying in the sky’

(4)

4 ‘Describe the beauty of your city asyou saw in a dream’




ST TFel S are 15 991 36 ¢ | 7 fefafea J 9 e@ frge 3® 2 g ¢ e 98 uig ad i@
IR & H HiGE HEGH LT 412

(1) ‘19 9e & Haifesn figwre arel T &1 3797 visa) § F9ie shiferd |

(2) 379 VT il TEl 3T YaXdl ol 90 kit |

(3) “HAI Y AFHH T IS W T, ISd U ATF VR & Al e a ¥ 1 v sifee’ |
(4) “ST9 S_T T Hekal F gui Fifery S 5 S g9Er Sy el

Options:-

=1, Option ID :- 173,
= 2, Option ID :- 174,
=« 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45




A teacher wants to ensure complete learning on the part of the students. So, the teacher should
focus on the :

(1) Philosophical implication of learning,

(2) Psychological implication of learning,.
(3) Social implication of learning.
(4) Moral implication of learning,

e ST ST g1 IU1 AT F giAafvad 3 gredted st 1 frd W e shiga e e ?
(1) sferm & griftes ffeaed @

(2) AferT o wAEEE Higd ™

(3) fermy & Hrfeies fafead w

(4) AfTH % Afass fAfeared w
Options:-

«1, Option ID :- 177,
=« 2, Option ID :- 178,
« 3, Option ID :- 179,
=« 4, Option ID :- 180,




Answer Given:- 4, Option ID : -180

Question ID:- 46

Among humans, which one of the following activity does not require gross motor skills ?
(1) Standing alone

(2) Grasping a toy
(3) Walking upstairs with help and support
(4) Jumping at a place

IR = e 0 e o T 1o [ | e e o b e o 2 0 e s o o

(1) ke @8 ®1 H

(2) TEelH =l vgedl ¥ gHeT |

(3) HerEdn iR TudT 4 difedr 9@ °
(4) TH TIE W FeA H

Options:-

«1, Option ID :- 181,
= 2, Option ID :- 182,
« 3, Option ID :- 183,




= 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

Kohlberg describes the context of moral development within :
(I) Emotional and cognitive development
(2) Social and emotional development

(3) Physical and cognitive development
(

4) Social and cognitive development

gt = Afaer fawr 1 frad aftfa e €2
(1) wTETHs AR HIFHAHS fah o

(2) wrHISTR AT W fome |

(3) VI R HaEeTsH faw b

(4) GMEISE AR G fo
Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,




= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

The human development pattern is
(1) Spiral

(2) Linear
(3) Parabolic
(4) Cyclical
g o gfaam &
(1) Hfda
(2) Y@
(3) WEAE®H
(4) =1
Options:-

=1, Option ID :- 189,




= 2, Option ID :- 190,
=« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

In the context of human development, which one of the folloWwing is an incorrect statements ?
(1) Development proceeds at different rates.

2) Development patterns are predictable.

3) Development is synonym to maturation.

(
(
(

4) Later development is more specific than edrly development.

g faem % Hey H, Frefafes § 9%E 9wy g8 T8 €2
(1) Tomrmg fafy= <0 o 2 g @

(2) Tawm ufqam wfesEml =29 8 €

(3) faerra uftgess &1 o= 2|

(4) vd faem Ft ordan Wadl faewme aifee fafire g §1

2

Options:-




=1, Option ID :- 193,
= 2, Option ID :- 194,
=« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50

The terms ‘cephalo caudal’ and ‘proximodistal” are associated"with :
(1) Growth.

(2) Aging.
(3) Maturation.
(4) Development.




Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Subject : UTL_Q51-Q65_KRTGTMATH

Question ID:- 51

A limitation of constructivist approach is that :

(1) Standardized curriculum is ignored.
(2) Teacher acts as a facilitator.

(3) Collaborative learning takes places
(4) Self learning is emphasized.




TAETE] SUNTH i Teh HiH1 9% § foh-

(1) WFFFd TeT=al +1 SU&T i STt 1

(2) HEAYF TH GAH-YH o T H &M HLdl 5 |
(3) TETITaT SAfTe e € |

(4) @-Aftrm W = fear s §

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
=« 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52

What is the way of modifying behaviour through Operent Conditioning ?
(1) Repetion through drill

(2) Variation of providing reinforcements
(3) Refinement of existing behaviours
(4) Developing liking for some behaviour




Hisha ST e (AT FHreIvi) o HeAH § SHeRR Sea ol qih #4187
(1) AH & H=H § g

(2) YASEH gH i H Aty

(3) Fd9H STEEE  URErSH

(4) <9 & =EeR & fau 9Hg faswfag s
Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

=« 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

Employing project method is not suitable when :

(1) real life experiences are gonsidered important.

(2) teacher finds it difficult t6 ensure participation of all students in it.
(3) development of self confidence among students is a priority.
(

4) no external persuation is needed to attract the students toward learning.




gfErsrT faftr = W e 99 SugeR T B § Se-

(1) aTrfae Sitee 39l 1 geeayv] IHe SR & |

(2) ek THH WAt fernfelEi =t vnierl giafvad # 1 HicE gegd &l

(3) Terenferai | streq forvemy forsrfea B =t greifirerar <t it 21 1

(4) TemnfeiEl sl ST sl AR STl i o fou fordt ared S3e hl STeredehdl 4 ol |

Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
=« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

Extrinsic motivation is preferred oyver intrinsic motivation because :
(1) It helps foster creativityy

(2) Parents and teachers often reward children for successful completion of learning tasks.
(3) Itis longer lasting.
(4) Itis based on taking pleasure in an activity.




STeifer 2ATMURom sl eTdeT s SATERon i Wi €t S 8 i

(1) 9% GeIAcHeshdl &I redied et § Terd &l ¢ |

(2) AfqaTas iR STeaTs W Tw6 ol ST ATy T 1 IEearEd T T YRR o © |
(3) U® oid §HA g Wl ¢ |

(4) =@ foreft foRan § oArg & X i B 8 |

Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
=« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55

Important factors for developmentand sharpening of existing curricula do not include :
(1) Globalization

(2) Uniformity

(3) National Goals

(

4) Natural and man made Calamities




yafed geTEdl 99 SR 39 YRER 9 % HEaqYl Rehl H I Hiferd T8 § 7

(1) SEHT

(2) UHBTH

(3) W wed

(4) 9repfas AR AHE-TAHT srue
Options:-

=1, Option ID :- 217,
=« 2, Option ID :- 218,
=« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Question ID:- 56




Which one of the following does not act as a limitation of Competency Based approach to
learning ?

(1) Designing activities and test items for such competencies may not always be practicable.
(2)

(3) Remedial teaching is helpful for improving grades of low acliievers.
(4)

4)  Outreach of teacher to all students is not possible due to,varied pace of learning for each
student.

Learning climates in all schools are not conducive for optimising learning,.

Fifer o geqa1 enfiE 3urH ) fFefafed | § @ Him == g 2

(1) U geraed & foru fRamd SR ade g9 amrn Hed sareeifia 8 21 § |

(2) ot Toremerdi | sifermy araravr sifeRta A gean S F fow werae T2 am T
(3) SUERIHS forero & iferm yrdshmisiivg e § GuR %39 % fau deras g 2
(4)

4) o faenedt =t erfermy geiyft witd fa=an & o sreames st wadt faenfelt ae uge Hag & St
2l

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
=« 3, Option ID :- 223,

2




= 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which one of the fr}]JDwing statements is correct ?

(1) Mother tongue must be made the medium of instruction at Primary stage as children come to
school with enhanced vocabulary and it may help their. quality of learning.

(2) Implementing three language formula may create complex problems.
(3) Itis difficult to find suitable teachers to be able to use.multilingualism.
(4) Children can not learn two or more languages(at a time.

Frefefed 5 | wF-91 " w2 2 2

(1)  HIGHTET Rl WA T TR YgE 1 Qe s ] S A0 i g 9@l g3 UesE! & Y faeea
3 € ok I% 39eRt SAferTy Forgen H Terddl Y Hehdl

T3 wrden @r] et 9 Sifeet Teed Y & eRdl

g I 1 G T Gohel dTet SUFE STEATIeh] ol @@l v ¢ |

T U 9O ¥ g1 A1 afuss et &1 7E Hig A ©
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Options:-
=1, Option ID :- 225,




= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Which is not a feature of “Experiential Learning’ ?
(1) Learning lies in the process

(2) Learning is a continuous process

(3) Learning takes place through logical arguments
(

4) Learning is a holistic process

Frefafaa o | %1 ' syeres sAfra el T foge 78 52
(1)  Iferms wfsran = w fewm dar &

(2) ferTe Uk Haa iR &
(3) ferTe wifher Sefiel o TeEm 9 B §
(4) ATTH TH THY TR T

Options:-




=1, Option ID :- 229,
« 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

Which one of the following is not a feature of ‘Continuouys and Comprehensive evaluation” ?
(1) Formative evaluation is done informally using multiple techniques.

(2) Assessment of personal-social qualities is done @n'the basis of indicators of assessment and
checklist.

(3) Assessment of Scholastic areas is done_ in‘a formal way only to arrive at reliable decisions.
(4) School based evaluation of students covers all aspects of students” development.

fr=fafad § 9 = 'wad IR 2rggeaiEa’ &1 U fama 981 § 2

(1) TEAHS Jedis SHHIe &9 § 3 Tehrieh] &1 TR ik (a1 S &1

(2) SEfFTF-graTfser U ST, STEhe o Hehdeh] SR STE-9E=T & SNHR OX foa Siar &
(3) feeh &3 1 e kel fava ol wX g o forg sl &9 § fomn S €1
(4) Tornfefi & fammery enenfia geaie o faenfeli o fasrm & it vee e € &1




Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
« 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60

Which one of the following is not associated with unit.test 7
(1) Standardized achievement tests

(2) Diagnostic tests

(3) Summative assessment

(

4)  Prognostic tests

frefafes & & o ghE-qdepry wafktd 7= € ?
(1) HFeIHT ST T

(2) e adeo

(3) ANTRHE ATEHer

(4) AR e




Options:-

=1, Option ID :- 237,
« 2, Option ID :- 238,
= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Which of the following is not an example of ‘assessment of learning’ ?
(1) Scholarship examination

(2) Recruitment tests

(3) Assessment of homework
(

4) Annual examination




freafafag § 9 =0 ‘siftrm & e’ &1 U SR T8 8 2

(1) BEE T

(2) el oiE

(3) TEHE A

(4) =feeE gdiE
Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which one of the fc}llawmg is not a characteristic of “Assessment for le:—nning’ ?
(1) TItis descriptive in natures

(2) It expects students not tovmake errors.
(3) It provides for peer examination of their work.
(

4) It identifies areas of strengths and of need for each student.
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(1) &8 AT Y& =i Bl 8 |
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Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63

A teacher first gives some examples related to the concept and then asks about the rule/principle
governing it. She/he is adepting :
(1) Inductive approach

(2) Deductive approach
(3) Investigatory approach
(4) Explanatory approach




T A9 I8l Hhoddl & F H 9 ISR ol © AR T 398 Hafyd fam/faera & 9 & q2dql g 1 98
ST TR B~

(1) HAFMHATHS 3YFH

(2) iGN EEIRECTRER D
(3) SATHHUMCHE 3UMTH
(4) feeomeRs 3P
Options:-

«1, Option ID :- 249,

= 2, Option ID :- 250,

=« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64




Individual attention is important in teaching-learning process because :
(1) Teacher training programmes emphasize it.

(2) It helps teachers to maintain discipline.

(3) Children develop at different rate and learn differently.
(4) Learners always learn better in group.

foreror-siferm wfmen # =afaame A S Hewy § FiH-

(1) A=A UFEo HIEhE 36 T 96 od ¢ |

(2) € STEATIH] = ST 91, T H HeHd e ¢ |

(3) &= faf= 21 9 fasfad 2 € &R e—ofe T8 9 Hied 2 |
(4) sAfpEmET Hed T H agal HiEd ¢ |

2

Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255




Question ID:- 65

If the students are not taking interest in the studies, the teacher should :
(1) report the matter to the principal and convey to the parents.

2) advise students to take interest in studies for their own benefit.

3) ask the students as to why are they not taking interest.

(
(
(

4) ponder over the causes for lack of interest and take remedialimeasure.

4fe BE H1995 H B9 981 o 1 © dl SATH Hi-

(1) S5t Rrepma yame &1 41 AfeT aen 98 I Jil- 1901 e o Tgee! =fen |

(2) Tormnfeli =61 =g Hemg < =R 6 3% o1 fBo 1 uerR | wi= ol =fee )

(3) faenfefdi @ =g yon =nfen for & vgrd d A 78 & W

(4) Taenfai gr w7 oF % FR 9faeR FE e $iR SyaRes U s Jife |

Options:-

«1, Option ID :- 257,
= 2, Option ID :- 258,
« 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260




Subject : CCLE_Q66-Q80_KRTGTMATH

Question ID:- 66

Integrated Education of the Disabled Children (IEDC) has been merged with :
(1) DPEP

(2) RUSA
(3) RMSA
(4) RTE, 2009

-9 =irereRl st wHfRT e (IEDC) =1 ferder T foen fean e g7
(1) Ei 4 g q91 (DPEP)

(2) SR Y TH T (RUSA)

(3) R TH TH T(RMSA)

(4) SR 2§, 2009

Options:-

«1, Option ID :- 261,
= 2, Option ID :- 262,
« 3, Option ID :- 263,




= 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

Famous scientists Stephen Hawking was suffering from :
(1) Parkinson’s disease

(2) Amyotrophic Lateral sclerosis
(3) Sickle cell disease
(4) Multiple sclerosis
g aeifer RIe gife ferad difed 9 2
(1) ik T
(2) WHAEHRF oTete WRrIEd
(3) THerer Her W
(4) HEITA TRRIEE
Options:-

=1, Option ID :- 265,
« 2, Option ID :- 266,




=« 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68

Which one of the following case needs guidance ?
(1) An academically bright student, who has failed in classXI"after opting science.

(2) Class XI student of science stream who is not able/6 pefform / do laboratory activities /
practical’s.

(3) After opting science in class XI, a student who i§ showing the symptoms of academic anxiety.

(4) Class XI student of science stream who crams the scientific laws and formula.

Trafafed °§ 9 e 9md | 9riesE & el g6l @ 2
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Options:-
=1, Option ID :- 269,




= 2, Option ID :- 270,
= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 3, Option ID : -271

Question ID:- 69

Which one of the following is not a psychological stressor ?
(1) Catastrophic event

(2) Social discrimination
(3) Sedentary lifestyle
(4) Poverty

fefafed 5 9 FF-91 ts gafaE qag el @ 2

(1) AT =2

(2) ISR HEHE

(3) AYHUSTE St
(4) TR

Options:-




=1, Option ID :- 273,
= 2, Option ID :- 274,
=« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70

In a school library, the book stock should consist of curricultim - related non-fiction resources
which must be :

(1) Up to 50% of the total stock
(2) Up to 75% of the total stock
(3) atleast 40% of the total stock
(4) atleast 60% of the total stock
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Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Question ID:- 71




Which one of the following topic cannot be taught, to the school students, through ‘community as
a learning resource” ?

(1) Soap - preparation procedure

(2) Laws of reflection and refraction
(3) Concept of chemical bonding
(4)

4) Concept of friction

" AT HIEH % ®Y S % HIEFH H el 960 Sl Asiaied § H SE-9 fovd T8 9erEn S Hehdl
272

(1) H|EA =9H i faf
(2) HUEdA SR s7yEde fam
(3) THMAA® A=Y I Hehedl
(4) =HU ] HeReql

Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,
= 4, Option ID :- 284,




Answer Given:- 1, Option ID : -281

Question ID:- 72

Who, among the following teachers is a reflective practitioner ?

(1) A teacher who is an expert in repairing electronic gadgets

2) A teacher who always asks students to reflect on their future life

3) A teacher who draws implications for his/her teaching.from all kinds of life experiences
4) A teacher who blindly follows the teaching methodsleamnt during teacher training course

(
(
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Options:-

«1, Option ID :- 285,
= 2, Option ID :- 286,
=« 3, Option ID :- 287,




= 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73

A good teacher as a leader should :

(1) Involve all his students through participatory group activities to get best results
(2) Try to make balance between students and the advice efithe principal

(3) Try to improve his teaching skills

(4) Try to attain the best degrees in education

T 1= T0etek 1 a1 & ®9 H 1 L] 912

(1) 7= ftomy wifed & vrfierftargol wigfess wfdfafuEi gra er99 == = anfde s
(2) S 3 Y= i HATE o srd g a9 S T3

(3) 319 Torerur =rereli H YHR Sl GATH Y

(4) e o ggad fedigm =1 g3y &L

2

Options:-
=1, Option ID :- 289,
= 2, Option ID :- 290,




= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74

Which of the following combinations help a teacher build a visien for better school education ?
(i) Logical and abstract thinking ability

(i) Exposure to varied life situations

(iii) A degree in philosophy

(iv) Thirty years of teaching experience

(v) Experience of visiting the worst and best t€acher education institutions

(1) (@), (i), (iii) and (v)
() (@) (i), (iv) and (v)
(3) (i), (i) and (v)
(4) (i), (iv) and (v)




Ueh =1 el Toren o famem 3 1 ° 9 SF-91 wiiwer e =1 us gfte fFmi § g8 8 9 ¢ ?
() wfeher IR st o= e

(ii) Sita =l fafy= aiRfafa &1 srye

(iif) &9 W H e el

(iv) 9 gd 1 9gH Hl FA{HE

(v) Had EvE iR a9 39 e e SRl & 9mu F sy

\'%

j

(1) (@), (i), (i) 3 (v)
(2) (), (i), (iv) 3R (v)
(3) (1), (i) ¥R (v)

(4) (i), (iv) ¥R (v)

Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
=« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75




Which one of the following will help maximum in enhancing the teaching learning ethos in a
school ?

(1) Making books other than text books reading compulsory

(2) Having open dialogue sessions on every educational and social issue with every teacher
(3) Strictly following the set time table and no wastage of time ¢tufield visits
(4) Mastering the course prescribed

T T | a0 AR ardareo] &1 o8t S ° 0 54 WaH ST i J8EE BT 2
(1) 9T J&Iehi o SFATE] 3= Tiehi o Tgd ol HAEE HEl

(2) Ucah foreten o T e faek iR SrHIfas ga W g =99 93 s we

(3) & WU T HHA AR 7 Hd g W FH AT HIO 1 HSE H T HA

(4) Teu Tu = § qrETddn g s

Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
=« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298




Question ID:- 76

Who among the following be preferred to make the school time table ?
(1) The Physical education teacher

The drawing and painting teacher

&0 B O |

(
(
(

)
)  The mathematics teacher
)

4)  The vice principal

e o 9 ford wom wfoolt s o wrafishdn & ST =nie?
(1) i foen =1 sieamges

(2) TR &1 SAeATs

(3) IO R S1EAYH

(4) 39 9YFETEME
Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304




Question ID:- 77

Subjects like Maths and English should be taught in which period ?
(1) First period

(2) Period just before recess
(3) Second period
(4) Last period

Tforg SR Sfist o fawg frg Fene 8 gem s =nfewy

(1) 99 HIA
(2) =TT FEI | Ugel Heny H
(3) fedra =iy
(4) AT hTeAmT
Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
=« 3, Option ID :- 307,
= 4, Option ID :- 308,




Answer Given:- 1, Option ID : -305

Question ID:- 78

Which document discussed Multilingualism and the power of language ?
(1) Kothari Commission

(2) Ram Murti Committee
(3) NPE-1986
(4) NEP-2020

e SXaTesl 3 FgHTIIETE Si T i wied O 91 e 2

(1) ISR 3TEA

(2) = gfd wiEfa

(3) NPE-1986

(4) NEP-2020
Options:-

«1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,
= 4, Option ID :- 312,




Answer Given:- 1, Option ID : -309

Question ID:- 79

In whose context we talk specifically of safe and secure environment for children in schools ?

(1) Deprived children

(2) Tribal children

(3) Rural children

(4) Handicapped children

TRl § d=i g GUEd S Qe Qo ardel i g feered: fRees JeY H ohi S @l 7 ?
(1) df=d a=

(2) enfearEt @=

(3) FTHUI =

(4) fe=ame=
Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
« 3, Option ID :- 315,




= 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80

In which field of education, maximum innovations have been done ?
)  Primary school education

(2) Middle school education

(3) Secondary school education

(4)

Senior sec:}ndary school education

foren o form & o waifyes Tam=R fFg o g ?
(1) i o e

(2) fafest wpa foan

(3) HIEAHeR Whet foam

(4) dfts wreafas o e
Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,




= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : Maths_Q81-Q180_KRTGTMATH

Question ID:- 81

If n=23x3%4x7x (15)5, then number of consecutive zeros in‘n are ;
(1) 4

-
o1

)
) 5
) 6

0 B

(
(
(4

Ffen=23%34x7x (15)°%, 9 n = FHG LA HI HSA ¢

() 4
(2) 3
3) 5
(4) 6
Options:-

=1, Option ID :- 321,




= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

H.C.F. of 210 and 55 is expressed as 210 X5+ 55x. Then valuéwofix is :

Ly 210

2) -20

5 a1
209

4 97




210 355 % HCF. Bl 210x5+55y S TR P S aFa Tl AA ©
21
L
(2) -20
5 -2

5 20

Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
=« 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83




V2 + 47
1§:

The number

2 -7
(1) an irrational number
(2) a rational number
(3) an integer
(4) a natural number
g Y2+ V7 g
2 -7
(1) TR SFUREy §e&A
(2) W UHT HeA
() T E
(4) U Qrhd HEA
Options:-

=1, Option ID :- 329,
=« 2, Option ID :- 330,




=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

By Fundamental theorem of Arithmetic, if p is a prime number and it divides qz, q>0, then:

(1) pdividesq
(2) p?divides g2
(3) qdividesp
(4) g divides p>

ST ol STURYR THY 2 S8R, Ifa p 0% 3V e ¢ 3R 2 fawrfsa &t 8, safs >0 &,
1

(1) p, q = faufsa s
(2) p? g2kl faarfsd i
(3) q,p?ﬁﬁ?ﬂﬁﬁm%l
4) g pEEﬁT fawmfsa =+t g1

Options:-




=1, Option ID :- 333,
= 2, Option ID :- 334,
=« 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

Choose the number which has non-terminating repeating decimal expansion.
11

80

45

360

63
240

93
420




39 He&1 T AU T 9med TER S9! ST ¢ |

_ i
1 =
(1) -
5
360

—
I~
™

63
240

93
420

Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 3, Option ID: -339

Question ID:- 86




Which of the following numbers is a prime number ?

(1) 233
(2) 253
(3) 247
(4) 377

freafafad 5 9 &0 9 9@ 319 981§ 7

(1) 233
(2) 253
(3) 247
(4) 377

Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87




If o, B are zeroes of the polynomial flx)=x2—p(x+1)—9, then value of (0.+1) (B+1) is :

(1) 7
(2) 10
3) -8
(4) 8

() 7
(2) 10
3) -8
(4) 8
Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88




If (4)2~1—(16)*~1=384, then value of x is :

N9
y 2
(1) i
(2) 2
5 U
<
(4) 25

afg (@2 1-(16)*1=384 % M xF A % :

; 9
(1) 7
2 2

11

(3) 3
(4) 2.5
Options:-

=1, Option ID :- 349,




= 2, Option ID :- 350,
= 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89

x and y are two positive real numbers such that 8x>+27y> £ 730 'and 2x2y+3xy?=15, then value
of 2x+3yis :

1) 9
2) 10
(3) 11
(4) 8

x 3Ry TH Ry avfas e e R 813 + 27y =730 3R 2%y + 3xy2=15 B, T 2x+ 3y & 7H

(1) 9
2) 10
(3) 11
(4) 8




Options:-

=1, Option ID :- 353,
= 2, Option ID :- 354,
= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

If & = == then value of x>—6x2+12v—8 is :

4 443




e x = 2 T M aP—622+12¢—8% :

2 -3
(1) 243
(2) 6
(3) 343
(4) 443
Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Question ID:- 91




One of the factors of (25x%—1) + (1 +5x)? is :

(1) x+5
(2) 5-x
(3) 5x—1
(4) 5x+1
(25x% —1) + (1 + 5x)% F TH UHEE § :
(1) x+5
(2) 5-x
3) 5x—1
(4) S5x+1
Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
=« 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92




If the zeroes of the quadratic polynomial x2+(a+1) x+b are 2 and —3, then :
(1) a=0,b=-6
(2) a=2,b=-6
(3) a=5 b=-1
(4) a=-7,b=-1

(1) a=0,b=-6
(2) a=2r h=_6
(3) a=3, b=-1
(4) a=-7,b=-1
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
=« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93




If in a polynomial x> — (k+6) x +2 (2k — 1), sum of zeroes is equal to half their product, then value
of kis:

(1) 6
2) 7
8
() 3
(4) 4

7fg FEUT 22— (k+6) x+2 (2k — 1) F Y=AH! HP IR 396 TUFAFA o 39 % S 8, d@ k 1 0H &
(1) 6

2) 7
8
(3) =
(4) 4
Options:-

=1, Option ID :- 369,
=« 2, Option ID :- 370,
=« 3, Option ID :- 371,




= 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

If a linear equation has solutions (—3, 3), (2, —2) and (4, —4) then it is of the form :
(1) y—x=0

(2) y+x=0

(3) 2x+y+3=0

(4) x+2y—-3=0

Afe Wk YRaeh T & T (-3, 3), (2, »2) HN@, —4) T, T THH &Y &A1 :
() y—x=0

(2) y+x=0
(3) 2x+y+3=0
(4) x+2y—-3=0

Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
=« 3, Option ID :- 375,




= 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

The graph of the linear equation 2x +3y=8 cuts y-axis at the point :

8
® 59
@ @0
® 04




e FHITT 2x + 3y =8 Tl ATE y-31% =l g fofg WFEda @, o8 ¢ :

8

(1) [Ef D]
(2) 4,0
(3) (0, 4)
@ o 5]
Options:-

=1, Option ID :- 377,
=« 2, Option ID :- 378,
=« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96




Which of the following option expresses 5y—8x=7 (x+y)—9 in the from ax+by+c=0:
(1) —-x+12y—9=0

(2) 15x+2y—9=0

(3) 15x—4y—9=0

4) —x+6y—9=0

frafafad 5 9 =i =1 fawey Sy —8x=7 (1‘+~|;)—95F;T ax+by+c=[}:éﬁ ®q H yefeld & §

(1) —x+12y—9=0
(2) 15x+2y—9=0
(3) 15x—4y—9=0
(4) —x+6y—9=0
Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
=« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97




If the point (2k —3, k + 1) lies on the linear equation 2x—3y+12=0 then value of k is :

(1) 2
2) 3
3) -3
@ -1

(1)
(2)
3) -3
4) -1
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
=« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98




Graphically, the two linear equation 3x+y—6=0 and 3x—y+6=0, with x-axis will
enclose a :

(1) equilateral triangular region

(2) isosceles triangular region
(3) scalene triangular region
(4) right angle triangular region

3Trerg § <1 YRash GHIR 3+ y— 6=0 3 3x —y + 620, 3-318 o T &3 9 & :

(1) HHag Y
(2) wTHfEEE BS
(3) Tammeng s
(4) FEHRT B
Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392




Question ID:- 99

If pair of linear equations

axr+3y+(3—a)=0,

12x +ay—a=0

has infinitely many solutions, then value of a is :

(1) 6, —6

(2) 0,6

(3) 6

(4) -6

Tfe Yas gt & g

ax+3y+(3—a) =0,
12x +ay—a=0

% IRHd T G 3T7F & o, 41 & FEEHE ©
(1) 6, —6

(2) 0,6

(3) 6

4) =6




Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Cost of 15 pens and 8 pencils is Rs. 289, whereas cost of 8 pens and 15 pencils is Rs. 240. The cost
of 3 pens and 3 pencils (in Rs) will be.

(1) 76
(2) 96
(3) 69
(4) 49




15 09 iR 8 el o1 Jed 289 . €, Tafeh 8 U iR 15 YAl 1 4o 240 & 1 3 97 211 3 Ufae 1 9
(FUH 4 ) BT

(1) 76
(2) 96
(3) 69
(4) 49

Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
=« 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Question ID:- 101




Solution (x, y) of pair of linear equations :
a+c) x—(a—c) y=2ab
a+b) x—(a—Db) y=2ab, is :

(a+c) x—(a—c) y=2ab
(@a+b) x—(a—Db) y=2ab
HEA(x,y) 8 dl (v, y) & :

() (a, —a)
(2) (—¢ 9
(3) (—=bb)
(4) (b, —Db)
Options:-

=1, Option ID :- 401,




= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

If x=3, y=1 is a solution of a pair of lines x—4y+p=0 and 2xs y—q—2
between p and q 15 :

(1) 2p=gq
(2) P=2q
3) Sp=q
4) p=3q

0 , then the relation

Hﬁi@ﬁﬁﬁiw x—4y+p=0 3$R2Ax+y—q—2=[]$1€5'[1‘=3, y=1%, dl paﬂIngl?aﬁ?l'Hﬁ%I%:

(1) 2Zp=q
(2) p=2q
(3) Sp=q
(4) P=5q

Options:-




=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

=« 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

The area of a rectangle gets increased by 45 m?, if its length 18 reduced by 4 m and breadth is
increased by 5 m. If length of rectangle is increased by 3. m and breadth is reduced by 4 m then
area decreases by 67 m?. Length of rectangle (in metrés) is :

(1) 21
(2) 26
(3) 22
(4) 25




ATIT ! TS ol 4 m FH 3T TSR Bl 5 m Tl &3] S 8, a1 &5%a § 45 m2 &t gig 8l St ¢ | 4fg
ST I THETE 1 3 m 1 G2 S 23R =S ol 4 m FH L <81 ST a1 &3%e § 67 m?2 @1 HHl 81 Sl
T | 31T Y ereng (He ) €

(1) 21
(2) 26
3) 22
(4) 25

Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
=« 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104




The pair of linear equations;
3y=—4x+1

and 3x=4y—18

represents two lines which are :
(1) parallel

(2) intersecting at (—2, 3)
(3) coincident
(4)

4) intersecting at (3, —2)

e el & g
3y=—4x+1

R 3x=4y—18

<1 st i yefia e & ) o
(1) THIRE |

(2) (-2, 3) W yfoesg Fd 2
(3) Hurd F

(4) (3, —2) 9 gfa=sg HL ¢




Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

If the roots of the quadratic equation 9x% +6kx +4 =0 are égtal, then the value of k is :

(1) —-2o0r0
(2) 2o0r0

(3) 2o0r =2
(4) 3or —3

gfe fgard HHET 9x2 + 6ky +4= 0.F. A §HE €, a1 k 1 HH € :
(1) —-230

(2) 270
(3) 2791 -2
4) 391 -3




Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
=« 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

The roots of the quadratic equation x%+x— p (p+1)=0 aze :
D -p —(p+D)

2) p ptl
3) -p.ptl
4) p —(pt+tD




Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107

If —2 is a common root of the quadratic equations ayz +ay+3=0 and yz-i-_l;-l-b =0 then a®b is :
(1) 5

9
) -
(2) 5

9
(3) >

(4) -6




7fg fgumd SHieRTom a_|;3+a_|;+3=033{|'{ ];3+J;+b=U$T3ﬂHﬁ'%T{ -2% MWa?bd:
() 3

0
2 —
(2) 5
9
(3) =
4 -6
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108




Which constant must be added and subtracted to solve the quadratic equation

Oy x — 42 = 0, by the method of completing the square ?

(1)

2.3
4
=
64
1
3y =
(2) 1
=
64
1
8




eI THeRoT 942 + %x— J2 = 0,71 g =9 a1 fafer | gt & o foag g9 Ty sr=r afen =1
Srer SR 2P S = ?

(1)

—_—
=
2|w

——
FJJ
™

&
00 | b=t @‘,_h = | =

Options:-

«1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109




Which of the following is a quadratic equation ?

Zx—g]

1) =2x*=(5- %) -

(2) x3—axZ=(x-1)°3
(3) (k+ 1)x2+§ x=7k= -1

(4) x2+2x+1=(4-2)2+3

Ffafad 4 | =F o fgam g @ 2
1) =2x?=(5- %) [Zx— %]

(2) P—a?=E—1)°
(3) (k+l)x2+%:f=7,k=—1
(4) xZ+2r+1=(4-12)2+3

Options:-
=1, Option ID :- 433,




= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110
Solution of the quadratic equation;
2% + 6Bx —60= 0 is given by :
() 243,-543
(20 543,-243
(3 5 -343
(4) -3,543




faema e

2% + 631 —60=0
A B ;

(1) 243,-543
(2) 543,-243

(3) 5 -343

(4 -3,543

Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111




If the zeroes of the quadratic polynomial ax?+bx+c, where c#0 are equal, then :
(1) ¢ and a have same signs

(2) c and a have opposite signs
(3) cand b have opposite signs
(4) ¢ and b have same signs

W&ﬁﬁﬁﬂﬁﬁﬂﬂaﬁ+bx+qﬁaﬁ?tﬁﬂ%a¥ﬁfﬂ¥mﬁ_§, qar
(1) ¢ 3Ra 8 994 2

(2) c3¥Ra® faula fog @
(3) c3iRbF fauwda fag &
(4) ¢ dRb® TgH fog ©
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
« 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441




Question ID:- 112

The sum of n terms of A.P. is n2+ 3n, then common difference of A.P is :
(1) 2

2) 3
(3) 1.5
(4) 0.5

Tk A.P. & n 9e ol M n2+3n 2, AP 96 T2 &

() 2
(2) 3
3) 1.5
(4) 0.5
Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

=« 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113




In the sequence a, given by 114, 109, 104, - - - - - the first negative term will be :

(1)

2)
)
)

4

Coree T s, T e,
570 B L

guit a, S fF 114, 109, 104, - - - - - ‘

21
23
24
22

1)
(2) 23
(3) 24
(4) 22

Options:-

«1, Option ID :- 449,

= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,

Answer Given:- 3, Option ID : -451

Question ID:- 114




The 7™ term from the end of the sequence —8, —5, —2, - - - - -

(1) 67
(2) 70
(3) 73
4) 72
goff —8, =5, =2, ----- , 88 T 31d & B T Hqal U8 &
(1) 67
(2) 70
(3) 73
(4) 72
Options:-

«1, Option ID :- 453,
= 2, Option ID :- 454,
=« 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115




The sum of all two digit numbers which when divided by 4, leave 1 as remainder is :

(1) 1254

(2) 1166

(3) 2420

(4) 1210

3T G S iR Al Hemedl o A fSe 4 9 faves R ST EAa T, ©
(1) 1254

(2) 1166

(3) 2420

(4) 1210
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
=« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116




Sum of p terms of AP is q and sum of q terms of AP is p. Common difference of A.P. is:

2 2
1 — e
(1) a7




A.P. % p 9al 3l AN q AR q T8I 1AM p 8 | AP, =1 §rd < & :
2

2
1y =
()qp

-2 (p+ q)
pq

Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

Question ID:- 117




The fourth term of an A.P. is three times the first term and seventh term exceeds twice the third
term by 1. Tenth term of A.P. will be :

(1) 22
2) 23
(3) 21
4) 29

A.P. %1 A9 98 T8 T8 1 T 71 2 SR Hidal U8, fHL I8 % g H 1 AU B ) AP, F <Hal 18 E

(1) 22
(2) 23
(3) 21
(4) 29

Options:-

«1, Option ID :- 465,
= 2, Option ID :- 466,
=« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467




Question ID:- 118

Two points having same abscissa but different ordinates lie on :
(1) x-axis

(2) a line parallel to x-axis
(3) y-axis
(4) a line parallel to y-axis

31 fagedi 1 4o 9o &1 W Fife fa=1 1 a1 3 feem 2
(1) x-38
¥-3187 & THIE W@ |

Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
=« 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469




Question ID:- 119

The number of linear equations in x and y which satisfy x=1 and y=5 is :
(1) Only one

(2) Two
(3) Three
(4) Infinitely many

x=1,_y=aa%u§%aﬂﬁarﬁxaﬂwﬁﬁﬁ§$wﬂwﬁ?a@rﬁ7ﬁ:

(1) e TH

2) &

(3)

(4) RIS 3= &, T8
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475




Question ID:- 120
If the point P (2, 1) lies on the line segment joining points A (—1, 7) and B (4, —3), then :

(1) BP=§AB

CE

I I
R|W Nlw vl

o

5 B

c
'ﬁ
w3/
Il
=
™




afe fag P (2, 1), Tagali A (-1, 7) 3R B (4,

(1) BP = E AB
5
(2) AP= 2 AB
5
(3) AP= 2 BP
2
(4) PB= % AP
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 4, Option ID: -480

—3) I SIS arel v Toe 9T ferd 8,

Question ID:- 121




The coordinates of a point which is equidistant from O (0, 0), A (0, 22) and B (8, 0) is

(1) 11 4]
2 (11,9
® )
@ [a5

39 Toig o fAeuris it O(0, 0), A (0, 22) 3R B (8,9)H THHEAF g W&, T :

M |54
(2) (11, 4)
(3) (& 11)
@ (s
Options:-

-1, Option ID :- 481,




= 2, Option ID :- 482,
= 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Point which is equidistant from point A (4, 5) and B (—2, 3)dies on the linear equation :
(1) 3x—-y—-7=0

(2) 3x+y—-7=0
3) 2x—y+7=0
(4) S3x+2y+7=0

faigali A4, 5) 3R B(-2, 3) & Gugra'Teg, o ifas g X froum €, 98 ¢
(1) 3x—-y—-7=0

(2) 3x+y—-7=0
(3) 2x—y+7=0
(4) 3x+2y+7=0

Options:-
=1, Option ID :- 485,




= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123

If the mid point of the line segment joining (o, p+ 1) and (o471, P+ 2) is [%, %] , then the mid point

of line segment joining (0.—1, p+1) and (a+1, p—1).is :

1 (1,1
@ (1 -2
3 @1
4 (1)




fe (o, B+1) 3 (o+1, B+2) I SIed arcd {@Ee &1 744 foig E g] g, dl (a—1, p+1) 3R

(+1, B—1) T SIS a1t T@TEE F1 97-fog 7
1 @

2 1 -2

3 @1

4 61

Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Euclid stated that “all right angles are equal to each other” in the form of :
(1) an axiom

2) a definition

3) a postulate
)

4 a theorem




fFTe 5 TH % &1 H el fob ‘|l FHeEO TF THL o Fe B 2

(2) gfeem

(3)  SATYERON

(4) 95"
Options:-

=1, Option ID :- 493,
= 2, Option ID :- 494,
« 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

Boundaries of solids are :
(1) surfaces

(2) curves
(3) lines
(4) points




(1) TS
(2) dsh
(3) Y@
(4) Tag
Options:-

=1, Option ID :- 497,
« 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

The angles (30 —a)° and (125% 2a)° are supplement to each other. Value of ‘a’ is :
(1) 20°

(2) 35°
(3) 40°
(4) 25°




- 5

I (30 — a)° 3T (125 + 2a)° Teh THL & HYF M 21 ‘a’ 1 HH © :

(1) 20°
(2) 35°
(3) 40°
(4) 25°

Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
« 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504

Question ID:- 127




Which of the following statements is true ?

(1)

If x° is the measure of an angle which is equal to its complement and y° is the measure of an

Q

angle which is equal to its supplement, then L
¥
In a triangle ABC, if ZB > ZC then AB > AC.
Length of the median in a triangle to a side is less than‘the corresponding altitude.

A line | intersects a pair of parallel lines. The exteriér anigle on the same side of line [ are in
the ratio 4 : 5. The measure of the smaller angle is 70°

frefafag 5 9 &9 W FY Het & 2

(1)

-l'_‘\.-l"r_'mf'_'h
- 2 B3

IS x° 9 IV 1 HY & S oh 3790 TP H101 F SR & 37 ° 3H 107 H 99 8 S o AT YT
aﬁm%m%w%ﬁ:;:oﬁ.

s s ABCH 4fg 4B » /C % @ AB>ACE|

e s & mite Fi ofar, 39 9 vivers | %Y 2 7

T Y@ 1, it TEnsti % 9 ) i R €1 5 1 UF € SR F FE: R w1 ST 4 5
1 GIE BIE K0T K AT 70° T

Options:-




=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128

In the figure, AB||PO and BC||OQ. Value of 2x—y is :
A

A

Q O
(1) 50°
(2) 80°
(3) 130°
(4) 100°




3Mfd H AB||PO AR BC||OQ 1 2x—y H HH § :
A

ot

Q O
) 50°

2) 80°
) 130°
)

e

4) 100°

e . B s T, ]

Options:-

«1, Option ID :- 509,
« 2, Option ID :- 510,
=« 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129




The angles of a triangle are in the ratio 4 : 5 : 6. The difference of largest and smallest angle is :
(1) 48°

(2) 30°
(3) 24°
(4) 36°

T S F U456 F oI H ¥ T 92 R v oA s

(1) 48°
(2) 30°
(3) 24°
(4) 36°

Options:-

«1, Option ID :- 513,
= 2, Option ID :- 514,
=« 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130




In the figure, AB||CD. If ZABC =105°, ZBED =3(°, then value of ZCDE=a is :
A C

'B.

(1) 105°
(2) 135°
(3) 115°
(4) 75°




ARG H§ AB||CD %1 af€ ZABC=105°, 4ZBED=30° &, @l ZCDE=a % :
A C

B

(1) 105°

(2) 135°

(3) 115°

(4) 75°
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
=« 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131




In the figure, AB= AC, ZACD=115°. ZA is equal to :
A

(1)
()
(3)
@)

40°

Q
<L
QO



e AB=AC, ZACD=115° ¥l ZAF OF © :

A
115°
D
B ¢
(1) 45°
(2) B5°
(3) 50°
(4) 40°
Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 3, Option ID : =523

Question ID:- 132




Which of the following statements is wrong ?

(1) If the corresponding sides of two similar triangles are in the ratio 5 : 7, then their perimeters
are in the ratio 5 : 7.

(2) If the corresponding sides of two similar triangles are in the ratio 4 : 3, then their area are in
the ratio 4 : 3.

(3) If the ratio of the corresponding sides of two similar trianglés is 3 : 5, then the ratio of their
corresponding altitudes is 3 : 5.

(4) In two similar triangles, if the ratio of their correspdnding medians is 7 : 5, then the ratio of
their corresponding altitudes is 7 : 5.

Tefafad w9 5 | %9 9 Ted & ?

(1) afe 3 guey FHs #) 5 qemd 6 w7 ST § ¥, @ 3% aftardi #1295 : 7 26

(2) afg < wHET Bl ®1 ETG YIS & 3 F FIE H €, 9 Ik amal | ST 423 3

(3) afc < guey By &t Sg Yenefl H S 3: 5 %, o 37 W Yeis § ST 3 : 5 B |

(4) 2 weey o # afe 9@ dd aiferernd 7 ;5% ouE d €, 6 37 G idelsi #§ ad 705
BT |

Options:-
=1, Option ID :- 525,

2




= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

In AABC, AC2=2AB? and AB =BC, then ZC equals :

(1) 90°
(2) 60°
(3) 45°
(4) 30°

AABC H, AC2=2AB2dY1 AB=BC, ZC'& 9H % :

(1) 90°
(2) 60°
(3) 45°
(4) 30°

Options:-

=1, Option ID :- 529,




= 2, Option ID :- 530,
=« 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531

Question ID:- 134

In figure, line [ is the bisector of ZA. If AO=5 cm and AP =4"em, then OQ is equal to :

Q
0O 1
A ¥
(1) 4 cm
(2) 3 cm
(3) 5am
(4) 2 em




a3 8, ZA &1 gufgusis @ [ 13 AO=5cm 3 AP=4cm &, T OQ T ¢ :

Q
o |
A 4
(1) 4 cm
(2) 3 cm
(3) 5 am
(4) 2em
Options:-

=1, Option ID :- 533,
=« 2, Option ID :- 534,
= 3, Option ID :- 535,

=« 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135




In triangle ABC and DEC (see figure) if AB||ED, then AABC and ADEC are :

similar

congTuent

e
o

both similar and congruent

——
]

Ha %
T e N

neither similar nor congruent




st ABC 3R DEC (31hfa <f@n) ¥ afe AB|ED g, a1 AABC 3R ADEC :

D
(1) HAEYE|
(2) HETEHEE
(3) THEY 3R ANTHH & ¢ |
(4) A HHEY g R 7 & gatgq 2 |
Options:-

=1, Option ID :- 537,
« 2, Option ID :- 538,
= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136




Two buildings are standing opposite to each other on either side of the road. From a point on the
road, ladder reaches building’s window which is 12 m high from the ground. Keeping the foot of
the ladder at the same point, the ladder is turned on the other side of the road and it reaches a
window which is 9 m high from the ground. If the length of the ladder is 15 m, then the width of
the road (inm) is :

(1) 18
(2) 24
(3) 21
(4) 25

Hgh o GHI SR A HHA < W € | Hesh W B feig & didi, v i faght v g S § S e g
T 12 m S W T G F U H 34 6y W etz Y el R T W g, 9 9% 97 ¥ 9 m S #
faeHl R wEa 9rl 81 3G Tid ) FEEds m e, 9 9% Fi 9eE (mH) ¥

(1) 18
(2) 24
(3) 21
(4 25

Options:-

=1, Option ID :- 541,




= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137

In a triangle ABC, PQ is drawn parallel to BC such that/paints P and Q lie on AB and AC
respectively. If PQ: BC=2:5, then AP: PBis:

(1)

Ll | 9

=
N Uil N




T T3S ABC H, PQ I BC & HHIY 35 YhR Ei=l 741 8 T P 3iR Q #HY: AB 3R AC W fea g1 4fg
PQ:BC=2:5% dl AP:PB® :

2
O
2
2 =
(2) =
@ 2
&)
3
(4) =
Options:-

=1, Option ID :- 545,
« 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138




Which of the fDl]Dwing statements is not true ?

(1)

A square is a rectangle.

If an angle of a parallelogram is one right angle, then each of the remaining angles is also a
right angle.

If the diagonal of a parallelogram divides it into two isosceleg triangle, then the parallelogram
is a rhombus

(4) The opposite angles of a parallelogram are bisected bytits diagonals.

1 el | | %17 | Hel T © 2

(1) U & U AT & ¢ |

(2) afe THiE IS 1 Uh FIV HHBIY BT o) A AEHT o T B0 H FHFT B |

(3)

(4)

afe wF TR =ays o fawul w0 < unfger G § faufsa s § a9 oaim =S
=S BT
FHITR =S & qr@ Fvl Hreaeh feshol wufgunfeid sed €

Options:-
=1, Option ID :- 549,

= 2, Option ID :- 550,

=« 3, Option ID :- 551,




= 4, Option ID :- 552,
Answer Given:- 1, Option ID : -549

Question ID:- 139

In a quadrilateral PORS, £P+ £ZR=3 (£LQ+ £5). If ZP=120", then measure of ZR is :

(1) 120°
(2) 130°
(3) 150°
(4) 100°

(2) 130°

(3) 150°

(4)  100°
Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
=« 3, Option ID :- 555,




= 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Two consecutive angles of a parallelogram are (x+60)° and (2x+30)". This parallelogram can be
called :

(1) square

(2) rectangle
(3) rhombus
(4) kite

Teh GHI FgHS o T AN S0 (x + 60)° 3R (2r +30)° § | 39 AR T &1 FHel S e §
(1 =

(2) HEd
(3) TS
(4) weT
Options:-

=1, Option ID :- 557,

= 2, Option ID :- 558,




= 3, Option ID :- 559,

=« 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Question ID:- 141

ABCD is a quadrilateral in which AB=BC and AD=DC. If ZABC=100" and ZADC=40°, then
ZBCD will measure.

(1) 140°
(2) 100°
(3) 110°
(4) 105°

ABCD % 9Ig4s & fS9d AB=BC 3RAD=DC %13 ZABC=100° 3k ZADC=40° 8, @ «BCD
FIHY

(1)  140°
(2) 100°
(3) 110°
(4) 105°

Options:-




=1, Option ID :- 561,
= 2, Option ID :- 562,
=« 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

If AABC ~ AQRP, 2 (AABC) _ 9 'Ap_18 cm and BC=454m, then PR is equal to :
4

ar (POR)
(I) 8 cm
(2) 24_1 em
(3) 10 em

(4) 12 cm




If AABC ~ AQRP, 1 (AABC) _ 9 ' Ap_ 18 &t 9o BC =15 it &1 PR SRR &
4

ar (PQR)
(1) 8 &Hi
2 g
(2) 5
(3) 10 9|
(4) 12 9+l
Options:-

=1, Option ID :- 565,
« 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143




In the figure, ABCD is a rectangle. Sum of lengths of the two diagonals is 100 cm and E is a point
on AB such that OELAB. If OE=7 cm, then length of rectangle (in cm) is :

D C

O
A E B
(1) 24
(2) 48
(3) 36
(4) 40




STepfa H, ABCD U 19d © | 39 SHi Tashvil =1 oreagai =1 3 100 cm ¥ 3R fog E, AB W 30 ¥&K
forg 8 fF OELAB® 1 IRROE=7cm ¥, &1 374 &l &8 (cm ) ©

D C
O

A E B
(1) 24
(2) 48
(3) 36
(4) 40
Options:-

=1, Option ID :- 569,
« 2, Option ID :- 570,
=« 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144




In a circle of radius 5 cm, two tangents are drawn from on external point A. If these two tangents
are inclined to each other at an angle of 60°, then length of each tangent is :

5

(1) ﬁ cm
(2) 5 -\/E cm
(3) 5 \/5 cm

5
72




% 5 cm T a1 99 H =me: forg A 9 1 el e wiE T ¥/ 3fe 7 S el ey TR 60° %
T ekt g8 €, < Uik Tl @ ki e §

(1) % cm
(2) 5+2cm
(3) 5+3cm
@ —em

Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 1, Option ID: -573

Question ID:- 145




In a circle of radius 5 cm, point P is at a distance of 13 cm from centre O. Pair of tangents PQ and
PR are drawn to the circle. Area of quadrilateral PQOR (in cm?) is :

(1) 60
(2) 30
(3) 65
4) 75

% 5 om o gt g9 # fag P, 8 O H 13 cm 1 g8 T3 790d § 199 W &% W@ PQ X PR @i+ T
%Iﬁﬂ'ﬂa PQOR %1 &% (cmzﬁ)% :
(1) 60

i)
)
a

)
(2)
(3) 65
(4) 75
Options:-
=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577




Question ID:- 146

In the given figure, O is centre of a circle. PQ is a chord and PR is tangent at point P on circle. If
ZRPQ=40° , then ZPOQ is :

P
R
40
0
Q
(1) 110°
(2) 90°
(3) 100°
(4) 80°




feu 7u fo= #, 99 &1 %g O ¥ | PQ U Sital ¥ 3R 99 % fawg P W PR U 091 1@ § 1 3fg LZRPQ=40°F%,
?IIIAPOQ%:

P
DN R
Q
(L), LlgF
(2) 90°
(3) 100°
(4) 80°
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147




In the figure, AB and CD are equal chords of a circle with centre O. If AB=(7x +6) cm, CD = (4x +9)

cm, ZAOB=(12y—4x+3)° and ZCOD = (10y+11)°, then value of x and y are :




feu 7u fga §, O %= & T% 94, § AB RCD 8 99M g &/3fE AB = (7x +6) cm, CD = (4x +9) cm,
ZAOB= (12y —4x +3)° 3R LCOD = (10y +11)° €, @ x 3R y = AH © :

(1) x=2,y=3
(2) x=1,y=6
(3) x=1,y=4
(4) x=3,1y=6
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148




In a cyclic quadrilateral ABCD, if ZADB=30" and ZDCA=70°, then ZDAB is :

(1) 80°
(2) 90°
(3) 100°
4) 110°

U THE FgHS ABCD H, ZADB=30° 3{X Z/DCA =70° € @ZDAB % :

(1) 80°
(2) 90°
(3) 100°
(4) 110°
Options:-

«1, Option ID :- 589,
= 2, Option ID :- 590,
=« 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149




In the figure, O is the centre of a circle and AB,BC are two chords of a circle. If ZBCO=40°, the
values of x and y are :

(I) x=50°, y=40°
(2) x=40°, y=30°
g F =28, qi=

(':i) 25" Iy 20°
/ w = ': W= '
(4) 25°, y=25°




feu Tu fot ), 99 %1 % O ¥ i 99 % &1 Sfad AB SR BC ¥ 198 ZBCO=40°%, W x Ry F1 91
%

Options:-

«1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150




. . . . 2] A .
Area of an isosceles right triangle is 8 cm~. Length of hypotenuse (in cm) is :

(1) 16
(2) 32
(3) /48
(4) 24

T HHIGaTg FHa0 S 1 89%d 8 cm? & | FH /@ @ (cm H) © :

g
ﬁﬁmﬁ
= ol B o

Options:-

«1, Option ID :- 597,
= 2, Option ID :- 598,
=« 3, Option ID :- 599,




= 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151

The side of a thombus is 30 m and its one diagonal is 48'm. Area of rhombus (in m?) is
(1) 648

(2) 864
(3) 432
(4) 718

Wﬂﬂﬂgﬂﬂﬁﬂﬂ%m% WWWW@m%IWﬁHWW (111313)%:

(1) 648
(2) 864
(3) 432
(4) 718

Options:-

=1, Option ID :- 601,
=« 2, Option ID :- 602,
= 3, Option ID :- 603,




= 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

Two circular parks are of radius 16 m and 12 m. A third park is to be built such that its area is
equal to the sum of earlier parks. The diameter of new park (in m)is :

(1) 28
(2) 40
(3) 34
(4) 30

&1 gUTHR U] i B 16 m 3R 12 m &1 T W 9Tk 39 Weh ol o1 ST & TR S5t Sel veet
ST UreR % ANTES & FHM &1 S | TU9eEE R e (m H) @

(1) 28
(2) 40
(3) 34
(4) 30

Options:-

=1, Option ID :- 605,




= 2, Option ID :- 606,
=« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

In a circle of radius 14 cm, the length of the arc is 22 cm. The atea of segment corresponding to this
arc (in cm?) is :

(1) 48
(2) 98
(3) 56
(4) 66

T 14 cm 1 551 9] 990 H Tk /A19801 o1 22 cm @ | 39 919 & Hd g6 S # &5 (cmzﬁ)%:

(1) 48
(2) 98
(3) 56
(4) 66

Options:-




=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

Four circular card board pieces of radii 7 cm are placed oh a paper in such a way that each piece
- = . . s [
touch other two pieces (see figure). The area of the shaded*fegion (in cm-) is :

(1) 28
(2) 35
(3) 42
(4) 49




7 cm T3 9161 IR IR T o6 Zehe) ol Ueh RIS WX 39 TR 1@l 741 ¢ T Uk 2l g8 ©l 25hel &l
oyt v § | (Fosr 2fEn) srifea umn 1 e (m?®) © ;

(1) 28
(2) 35
(3) 42
(4) 49

Options:-

=1, Option ID :- 613,
=« 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155




A ring is formed between two concentric circles. The radius of inner circle is 17.5 cm and area of
g P N = 5 =
outer circle is 1386 ecm=. Width of the ring is :

(1) 3.5 cm

(2) 32em
(3) 3.1 cm
(4) 3.6 cm

Tl Hehal gl o ofd H U 01 & g1 3T 9el 99 i (F 17.5 om 3R 91T 9161 g9 F A% 1386
cmzﬁlﬁﬁﬁm%:

(1) 3.5 cm
(2) 3.2cm
(3) 3.1 cm
(4) 3.6 cm
Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618




Question ID:- 156

If each edge of a cube is increased by 50%, the percentage increase in volume of the cube is :
(1) 225.5%

(2) 150%
(3) 237.5%
(4) 125%

afe U B T TE ST H 50% =1 g S, ot = Grran | wfovw gfg dn

(1) 225.5%
(2) 150%
(3) 237.5%
(4) 125%

Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
« 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623




Question ID:- 157

Two cones with same base diameter 14 cm and height 15 cm are joined together along their bases.
The volume of shape so formed is :

(1) 860 cm?

(2) 1540 cm?
(3) 6160 cm?
(4) 770 cm®

THE SMHR F 14 cm S 3R 15 cm 598 9161 S sl o1 Sk SER 9 Sie G 71 8 1 39 IR a1
SATHTT T AT ¢

(1) 860 cm?
(2) 1540 cm?
(3) 6160 cm?
(4) 770 cm?

Options:-

«1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,




Answer Given:- 2, Option ID : -626

Question ID:- 158

A solid metallic hemisphere of radius 8 cm is melted and recast into small spheres of radius 2 cm
each. Number of small spheres is :

(1) 8

(2) 16
(3) 64
(4) 32

Tk 8 cm T5R1 o7l 19 o1g o I =1 Toerety 3 98 B1e-81¢ 2 om 55301 et 1iel § SER1 2Tl T4 |

(1) 8
(2) 16
(3) 64
(4) 32
Options:-

=1, Option ID :- 629,
=« 2, Option ID :- 630,




= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

The radii of bases of cone and cylinder are in the ratio 4 : 3 and theitheights are in the ratio 3 : 2,
then ratio between the volume of cone to volume of cylinder is:

(1) 9:8
2) 8:9
3) 7:5
4 5:7

Y% SR S & SUR i el § A9 4 3§ i 371 SERal 3 : 2% A9 | €, 9 UF o A

3R AT o ST T ST @
(1) 9:8
(2) 8:9
3 7:5
(4 5:7

Options:-




=1, Option ID :- 633,
= 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160

The largest sphere is carved out of a solid cube of side 21{cmy The surface area of sphere (in cm?)

15

(1) 1386
(2) 693
(3) 1848
(4) 924

21 cm Y31 G161 Us 219 59 H & @leai T god 78 e e 71 1 T 61 76 859 (cm?2H) 8 :

(1) 1386
(2) 693
(3) 1848
(4) 924




Options:-

=1, Option ID :- 637,
=« 2, Option ID :- 638,
= 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Question ID:- 161

The sum of the radius of base and height of a solid right'eircular cylinder is 37 cm. If the total
surface area of the solid cylinder is 1628 cm?2, the volime 6f cylinder (in r:rrﬁ) 15

(1) 3680
(2) 4620
(3) 6420
(4) 5640




T 39 @d guehR 9o &1 e 3 S8 &1 90 37 em ¥ ) AfE 3 9o &1 H@yvl gt aewd
1628 cm?2 &, 1 S 1 A (cm>H) ¥ :

(1) 3680
(2) 4620
(3) 6420
(4) 5640
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162




A histogram is to be drawn for following frequency distribution

Class Interval | 5-10 | 10-15 | 15-25 | 25-45 | 45-75

Frequency 6 12 10 8 15

The adjusted frequency for class interval 15 - 25 will be :
(n 2

|55 N L
L3 W

(2)
(3)
(4)

v




s B 1 | E GG T e g e 2 5 e G 2 s 1

CRE G 5-10 | 10-15

15-25

25 -45

45 - 75

EILEIEGI 6 12

10

8

15

T et 15 - 25 % fou gftadl aRard © -

(1) 2
(2) 5
(3) 3
(4) 4
Options:-

«1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,
« 4, Option ID :- 648,

Answer Given:- 1, Option ID : -645

Question ID:- 163




The mean of 100 observations is 60. If one of observation 60 is replaced by 210, the new mean will
be :

(1) 60.5
(2) 61
(3) 615
(4) 62

100 T&IUT T T 60 7 | Afe TF Y=I07 60 1 210 ¥ 9 fe Sre, a9 =720 =57 2 .

(1) 60.5
(2) 61
(3) 615
(4) 62

Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
=« 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 3, Option ID : -651




Question ID:- 164

The width of each of five continuous class intervals in a frequency distribution is 5 and lower class
limit of lowest class interval is 25. The upper class limit of the highest class interval will be :

(1) 40
(2) 55
(3) 45
(4) 50

U ARERA 924 H Urd TaR 99 Siaae s ares 5 g el gad ™ F T Sfwme Fi e ant @ 25 %
a9 S a7 Aque i ST A HH @

(1) 40
(2) 55
(3) 45
(4) 50

Options:-

«1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,
= 4, Option ID :- 656,




Answer Given:- 4, Option ID : -656

Question ID:- 165

The mode of the following frequency distribution is :

Class Interval Frequency
0-10 8
10-20 10
20-30 10
30-40 16
40-50 12
50-60 6
60-70 7
1) 34
36

— e e —
e S o
e e N
L
o0

N
s
Wl




1 IRE 529 = Iga® © ¢

EUEEGI] EEEIG]]
0-10 3
10-20 10
20-30 10
30-40 16
40-30 12
50-60 6
60-70 7

(1) 34

(2) 36

(3) 38

(4) 35

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,




= 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

For the frequency distribution :

Age (in years) |Frequency
0-10 5
10-20 25
20-30 25
30-40 18
40-50 7
median 18 :
(1) 25
) 26

2 D

(
(3)
(4) 24




IBISECECIEGIICECE

A (THi H) | SR
0-10 5,
10-20 25
20-30 25
30-40 18
40-50 7

1 HIEH ¢
(1) 25
(2) 26
(3) 22
(4) 24
Options:-

=1, Option ID :- 661,

= 2, Option ID :- 662,

= 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 3, Option ID

: -663




Question ID:- 167

The point of intersection of “the less than type’ and of the “‘more than type” ogives is :
29.6, 45.2), This indicates :

(

(1) Median=29.6
(2) Mode=39.9
(3) Median=45.2
(4) Mean=29.6

‘G FY YR 1 a0’ AR 'F A TR # ar’ @ diaesed 6 (29.6, 45.2) 8 | I8 Tehd A1 © ¢

(1) HI=gEH =29.6
(2) @G =39.9
(3) HI=AH =452
(4) HIE=29.6

Options:-

=1, Option ID :- 665,
« 2, Option ID :- 666,
= 3, Option ID :- 667,
= 4, Option ID :- 668,




Answer Given:- 3, Option ID : -667

Question ID:- 168

A bag contains 12 balls out of which x are red. One ball is drawn at random from the bag and p
is the probability thatitis a red ball. Now 6 more red balls are added to the bag and the probability
of drawing a red ball is 2 p. Number of red balls is :

(1) 6
2) 2
(3) 4
(4) 3

T gt H 1272 E ol § 1 o €)1 99 § @ryress A U i et S # 2R gwer ot 89 ot Wi
p 1318 It H 6 IR A1 e STt SAdl@ SN aret fig femer i wifekdr 2 p § 1 @ el i HEem
(1) 6

(2) 2
(3) 4
(4 3

Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,




=« 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 4, Option ID : -672

Question ID:- 169

From the month of July, whose first day is Monday, a day is selected at random. The probability
that it is not a Monday is :

; 6
B 5

5
2 =
@
26

31

25
0 =




s o J9 H, TS ugen o7 SiaR 2, e Uk fad o1 99+ Tl S € | Wik ff 98 Hiqar &
28

m 2
(2) g

® =
(4) %
Options:-

=1, Option ID :- 673,
=« 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170




A biased dice was rolled 600 times. The frequen{:ies of the various outcomes are given in the
following table :

Qutcome 1 2 3 4 B 6

Frequency 160 130 120 50 60 80

Now the dice is rolled once, the probability of getting a number which is a perfect square is :

=
12
13
30

4
(3) -

7
(4) 56




T AT 9 T 600 IR el T | 35k fafay qftomEi @i areRar w1 fe e § fem @ )

gy

1

2

3

4

-
)

6

CILEIEGI

160

130

120

50

60

&0

I T I UF IR ek T, @ Wi fF we qof & ura g, 8

L1
12

13

Options:-

«1, Option ID :- 677,
= 2, Option ID :- 678,
=« 3, Option ID :- 679,
= 4, Option ID :- 680,




Answer Given:- 4, Option ID : -680

Question ID:- 171

A school has 4 clubs A, B, C and D. IX class has 30 students. Its 6 students are in club A, 7 in club
B,2inclubCand restinD. A single student is selected at random from the class to act as class-

monitor. The pmbabili'ty that the selected student is from club A o D is :

7

1y L

(1) -
1
(2) 5
3 1
5

17

(4) %




Th foamea H4 39 A, B,CARD B I T IXHINBHE 1305 6B Fd AH, 7F0a BH, 25@ CH
S 9 o6 DH © | Uk 3Aohel O &1 A1g=0d1 § el H 9 el "rie o fau =3+ foran | wifdaskar fe
A IF ATDTEHAE B :

7

(1) "

(2)
(3)

(4)

r_,;.‘._h Qi = | =
—= |~

Options:-

=1, Option ID :- 681,
« 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172




A box contains discs numbered from 10 to 90. If one disc is drawn at random from the box, the
probability that its number on the disc is having both digits prime, is :

(1)

®| o

=
o0 | =




e o9 H 10 ¥ 90 9% &1 sifera emsii g fewr € 1 aft 9igw § ¥ ag=s" us fem =t femen 9,
<t yifaekar for g9 W eifera TEm 9 SHT 2 S € ®

1y 2

9

4
3 &
(2) =

6

® =

(4) -
8
Options:-
=1, Option ID :- 685,
« 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 4, Option ID : -688

Question ID:- 173




All the red face cards are removed from a pack of 52 playing cards. A card is drawn at random
from the remaining cards, after reshuffling them. The probability that the card drawn is a face
card is :

%]

(1)

22
@ =
(3) %
@ =




52 Uil Rl 19T ki gl H H WHT e =8 el I ol TehTer fe@ e | |t gl i Wed & W o H § Uh
T ol Arges AT eeTer T | wifaEa T g8 =Ey 9ren ue @

m =
@ =
e =
(4) %
Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174




(1) cos6
(2) sinb
(3) ftan®
(4) cotb

(g cosech + coth =p, Al

(1) cos6
(2) sinb
(3) tan®
(4) cotb
Options:-

=1, Option ID :- 693,
= 2, Option ID :- 694,
= 3, Option ID :- 695,

If cosec@ +coth =p, then

p* -1
p2+1

equals :

p*—1

p2+1

T 2




= 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

If tanf — cotf =5, then value of tan0 —cot30 is :

(1) 135
(2) 110
(3) 115
(4) 140
tanf —cotd=5 &, T tan’0 —cot?0 B :
(1) 135
(2) 110
(3) 115
(4) 140
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,




= 4, Option ID :- 700,
Answer Given:- 3, Option ID : -699

Question ID:- 176

In a right angled triangle ABC, ZB=90" and ZC is acute angle. Value of sinC + cosC is :
(1) more than 1

(2) 1
(3) less than 1 but more than 1
2

1

gy =

S

ek 9T 519s ABC H £B=90° 3l AC Uk A =i 2 | sinC +cosC %1 1M § :
(1) 1% sifees
2) 1

(3) T FHA WA %ﬁaﬁm

1
4 3




Options:-

=1, Option ID :- 701,
« 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Value of cos?f (1+ tan?0) is :
(1) cos*®

(2) cos?f.sin2h
(3) 1
(4) cos6

cos?0 (1 + tan?) T HH g

(1) cos?®

(2) cos?0.sin20
(3) 1

(4) cosb




Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 3, Option ID : -707

Question ID:- 178

If sinfl + cosh =1, then value of 4sinf.cos# is :

M 1
2
@ 2
Qr
@ >




i sinf + cos =1 % Al 4sinb-cosh & :
() 1

2
(2) 5
3
(3) -
4 0
Options:-

«1, Option ID :- 709,
= 2, Option ID :- 710,
=« 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179




A Kkite is flying at a height of 30 m from the ground. The length of string from kite to the ground is

60 m. Assuming that there is no slackness in the string, the angle of elevation of kite at the ground
15

(1)  90°
(2) 30°
(3) 45°
(4)  60°

T Ja7 4fH § 30 m 9% WIS Wl ¢ | 767§ ff TH Sl &l a=E 60 m © | 7% 91 g fh Sh § i
2iel 78 &, YfH 9§ 96T 1 3 F P

(1) 90°
(2) 30°
(3) 45°
(4) 60°

Options:-

=1, Option ID :- 713,
= 2, Option ID :- 714,
« 3, Option ID :- 715,
= 4, Option ID :- 716,




Answer Given:- 2, Option ID : -714

Question ID:- 180

A man standing on the top of 50 m high tower, observes two cars on the opposite sides of the
tower with angles of depression 30°and 45° respectively. The distance between the two cars is :

(1) 150 m




50 m 39 A & I W @ AeH! 2R &1 fauda fogneti § €1 wRi % seeee v e 30° 3R 45°
W%Iﬁm%ﬁﬂaﬁ@%

(1) 150 HreX

P
(2) 50 [J‘ E] Hiex
(3) 50 (1+3) e

1
e

® o1+ 7]
Options:-

=1, Option ID :- 717,
= 2, Option ID :- 718,
« 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719






